INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

Jose unlocked some badges at the first level of a game. He unlocked

another badge at the second level. Now he has 18 badges. How many | @
badges did Jose unlock at the first level? ‘J
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William had some toy rockets. He bought another 9 toy rockets. Now he
has 18 toy rockets. How many toy rockets did William have before he v

bought some more?
toy rockets
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There are some strawberries in a box. Mia adds another 6 strawberries to
the box. Now the box has 9 strawberries. How many strawberries did the
box have before Mia added some more?

strawberries
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E Scarlett had some medals. She won another 4 medals in a tournament.
. Now she has 18 medals. How many medals did Scarlett have before she v, '
| won some more? Q '
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